CHEMISTRY

BOOKS - SURA CHEMISTRY (TAMIL ENGLISH)

ALKALI AND ALKALINE EARTH METALS

Evalution Choose The Best Answer

1. For alkali metals, which one of the following trends is

incorrect?

A. Hydration energy : LigtNagtKgtRb

B. lonisation energy: LigtNagtKgtRb



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_O4caiHjJsgsf

C. Density: LiltNaltKItRb

D. Atomic size: LiltNaltKItRb

Answer: C

o Watch Video Solution

2. Which of the following statements is incorrect ?

A.Li" has minimum degree of hydration among
alkali metal cations.

B. The oxidation state of Kin KO, is +1

C. Sodium is used to make Na / Pb alloy

D. MgS0, is readily soluble in water


https://dl.doubtnut.com/l/_O4caiHjJsgsf
https://dl.doubtnut.com/l/_wWs81VAyVN71

Answer: A

o Watch Video Solution

3. Which of the following compounds will not evolve H,

gas on reaction with alkali metals ?

A. ethanoic acid

B. ethanol

C. phenol

D. none of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_wWs81VAyVN71
https://dl.doubtnut.com/l/_2t69kuZup1rd

4. Which of the following has the highest tendency to

. . 4 Aqueous i
give the reaction M,/ —— M
(9) Medium (ag)

A. Na

B. Li

C.Rb

D.K

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2t69kuZup1rd
https://dl.doubtnut.com/l/_K13vBND581Ii

5.sodium is stored in

A. alcohol

B. water

C. kerosene

D. none of these

Answer: C

° Watch Video Solution

6. Rb02 is

A. superoxide and paramagnetic


https://dl.doubtnut.com/l/_Hiy1XtXABVCM
https://dl.doubtnut.com/l/_950o6oRTfsPv

B. peroxide and diamagnetic

C. superoxide and diamagnetic

D. peroxide and paramagnetic

Answer: A

o Watch Video Solution

7.Find the wrong statement

A.Sodium metal is used in organic qualitative

analysis

B. sodium carbonate is soluble in water and it is

used in inorganic qualitative analysis


https://dl.doubtnut.com/l/_950o6oRTfsPv
https://dl.doubtnut.com/l/_ERaBg9tXwBM1

C. potassium carbonate can be prepared by solvay

process

D. Potassium bicarbonate is acidic salt

Answer: C

o View Text Solution

8. Lithium shows diagonal relationship with

A. Sodium

B. Magnesium

C. calcium

D. aluminium


https://dl.doubtnut.com/l/_ERaBg9tXwBM1
https://dl.doubtnut.com/l/_VZ041xIiwZGa

Answer: B

o Watch Video Solution

9. Incase of alkali metal halides, the ionic character

increases in the order

A. MF < MCI| < MBr < MI

B. Ml < MBr < MCl < MF

C. Ml < MBr < MF < MC|

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VZ041xIiwZGa
https://dl.doubtnut.com/l/_NhQd1odZ1HXj

10. In which process, fused sodium hydroxide is

electrolysed for extraction of sodium?

A. Castner's process

B. Cyanide process

C. Down process

D. All of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_NhQd1odZ1HXj
https://dl.doubtnut.com/l/_BxFevT7Hqis9

11. The product obtained as a result of a reaction of

nitrogen with

A.Ca(CN),
B. CaN2
C. CGCN2

D. Ca3N2

Answer: C

° View Text Solution

12. Which of the following has highest hydration energy


https://dl.doubtnut.com/l/_sUEdlkFp4UA1
https://dl.doubtnut.com/l/_ATec61Fi7Zjn

A. MgCl2

B. CCI,CZQ

C. BCI,Clz

D. S’I"Clg

Answer: A

o Watch Video Solution

13. Assertion :Generally alkali and alkaline earth metals
form superoxides
Reason : There is a single bond between O and O in

superoxides.


https://dl.doubtnut.com/l/_ATec61Fi7Zjn
https://dl.doubtnut.com/l/_4X8P3UV2mPSe

A. both assertion and reason are true and reason is

the correct explanation of assertion

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false

D. both assertion and reason are false

Answer: D

o Watch Video Solution

14. Assertion : BeSQy, is soluble in water while BaSO,

is not


https://dl.doubtnut.com/l/_4X8P3UV2mPSe
https://dl.doubtnut.com/l/_eEIvxoggWpPh

Reason: Hydration energy decreases down the group

from Be to Ba and lattice energy remian almost

constant

A. both assertion and reason are true and reason is

the correct explanation of assertion

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false

D. both assertion and reason are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_eEIvxoggWpPh
https://dl.doubtnut.com/l/_O6z6xFR84Y40

15. Which is the correct sequence of solubility of

carbonates of alkaline earth metals ?

A. BaCO3 > SrCO3 > CaCO3 > MgCOs

BMQCOg > CCLCOg > S’l"CO3 > BCLCOg

C.CaCO3 > BaCO3 > SrC0O3 > MgCOs

D. BaCO3 > CaCO3 > SrCO35 > MgCOs

Answer: B

o Watch Video Solution

16. In context with beryllium, which one of the

following statements is incorrect?


https://dl.doubtnut.com/l/_O6z6xFR84Y40
https://dl.doubtnut.com/l/_Iaibm3lD7nrI

A. It is rendered passive by nitric acid

B. It forms Be,C

C. Its salts are rarely hydrolysed

D. Its hydride is electron deficient and polymeric

Answer: C

o Watch Video Solution

17. The suspension of slaked lime in water is known as

A. lime water

B. quick lime

C. milk of lime


https://dl.doubtnut.com/l/_Iaibm3lD7nrI
https://dl.doubtnut.com/l/_lWFOEMgLzo9N

D. aqueous solution of slaked lime

Answer: C

° Watch Video Solution

18. A colourless solid substance (A) on heating evolved
CO, and also gave a white residue, soluble in water.
Residue also gave C'O, when treated with dilute HCI.

A NCL2CO3

B. NCLHCO?,

C. CCI,CO3

D. CCL(HCO?,)Z


https://dl.doubtnut.com/l/_lWFOEMgLzo9N
https://dl.doubtnut.com/l/_ihQ338EYzAJc

Answer: B

° Watch Video Solution

19. The compound (X) on heating gives a colourless gas
a nd a residue that is dissolved in water to obtain (B).
Excess of C'O, is bubbled through aqueous solution of
B, C is formed. Solid (C) on heating gives back X. (B) is

A. CGCOg

B.Ca(OH),

C. NCL2003

D. NCLHCO?,


https://dl.doubtnut.com/l/_ihQ338EYzAJc
https://dl.doubtnut.com/l/_eEZb7jBpzuuN

Answer: A

° Watch Video Solution

20. Which of the following statement is false?

A.Ca®" ions are not important in maintaining the
regular beating of the heart

B. Mg>" ion are important in the green parts of
the plants

C. Mg®™" ions form a complex with ATP

D.Ca®" ions are important in blood clotting


https://dl.doubtnut.com/l/_eEZb7jBpzuuN
https://dl.doubtnut.com/l/_A7L0dHfoiRDI

Answer: A

° Watch Video Solution

21. The name 'Blue John' is given to which of the

following compounds ?

A. CCLHz
B. CG,F2
C. C’a3(PO4)2

D. CaO

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_A7L0dHfoiRDI
https://dl.doubtnut.com/l/_dyNTI1y889hJ

22. formula of Gypsum is

A. CCLSO4_2HQO
B. CCLSO4.1 /2H20
C. 30&504 HQO

D. 200,504_2}.[20

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dyNTI1y889hJ
https://dl.doubtnut.com/l/_xyL6cEib5FwB

23. When CaC) is heated in atmospheric nitrogen in

an electric furnace the compound formed is

A.Ca(CN),
B. CaNCN
C. CG,CQNz

D. CG,NCQ

Answer: B

° Watch Video Solution

24. Among the following the least thermally stable is


https://dl.doubtnut.com/l/_CSv3m8Q9CUn1
https://dl.doubtnut.com/l/_prWrl7BrYOJ5

A. K:COg

B. Na2003

C. BCI,CO3

D. Li,CO3

Answer: D

° Watch Video Solution

25. Why sodium hydroxide is much more water soluble

than chloride?

o Watch Video Solution



https://dl.doubtnut.com/l/_prWrl7BrYOJ5
https://dl.doubtnut.com/l/_BWODzOFD6cVk
https://dl.doubtnut.com/l/_q7505ea8W8Z7

26. Write the chemical equations for the reactions
involved in solvay process of preparation of sodium

carbonate

° Watch Video Solution

27. An alkali metal (x) forms a hydrated sulphate,
X550410H50. Is the metal more likely to the sodium

(or) postassium.

o Watch Video Solution

28. Write balanced chemical equation for each of the

following chemical reactions.


https://dl.doubtnut.com/l/_q7505ea8W8Z7
https://dl.doubtnut.com/l/_RbKSW7fN0Klh
https://dl.doubtnut.com/l/_Qdgk2dd0sswn

Lithium metal with nitrogen gas

o Watch Video Solution

29. Write balanced chemical equation for each of the
following chemical reactions.

heating solid sodium bicarbonate

o Watch Video Solution

30. Write balanced chemical equation for each of the
following chemical reactions.

Rubidum with oxygen gas

o Watch Video Solution



https://dl.doubtnut.com/l/_Qdgk2dd0sswn
https://dl.doubtnut.com/l/_uoOvY2I4R3Mz
https://dl.doubtnut.com/l/_zhXC0fK8QVWg

31. Write balanced chemical equation for each of the
following chemical reactions.

Solid potassium hydroxide with CO,

° Watch Video Solution

32. Write balanced chemical equation for each of the
following chemical reactions.

heating calcium carbonate

° Watch Video Solution



https://dl.doubtnut.com/l/_zhXC0fK8QVWg
https://dl.doubtnut.com/l/_W75x47zkYbUq
https://dl.doubtnut.com/l/_NhFo148nDxKX

33. Write balanced chemical equation for each of the
following chemical reactions.

heating calcium with oxygen

° Watch Video Solution

34. Discuss briefly the similarities between beryllium

and aluminium

o Watch Video Solution

35. Give the systematic names for the following

Milk of magnesia



https://dl.doubtnut.com/l/_fToNV9isDxPW
https://dl.doubtnut.com/l/_X9Z7xgUJe4UC
https://dl.doubtnut.com/l/_dZ5ryCqVbVGI

l @ Watch Video Solution

36. Give the systematic names for the following

lye

o Watch Video Solution

37. Give the systematic names for the following

lime

o Watch Video Solution



https://dl.doubtnut.com/l/_dZ5ryCqVbVGI
https://dl.doubtnut.com/l/_oyDBnukmzkqF
https://dl.doubtnut.com/l/_9hO0ex4YngqQ

38. Give the systematic names for the following

Caustic potash

o Watch Video Solution

39. Give the systematic names for the following

lye

o Watch Video Solution

40. Give the systematic names for the following

lye

o Watch Video Solution



https://dl.doubtnut.com/l/_L5Lttd8hKc3t
https://dl.doubtnut.com/l/_XBEJB8kgAA7q
https://dl.doubtnut.com/l/_F0eJTNOOn1Qq

41. Give the systematic names for the following

lye

o Watch Video Solution

42. Substantiate lithium fluoride has the lowest

solubility among group one metal fluorides

o Watch Video Solution

43. Mention the uses of plaster of paris

° Watch Video Solution



https://dl.doubtnut.com/l/_F0eJTNOOn1Qq
https://dl.doubtnut.com/l/_TywLAaNBtn5P
https://dl.doubtnut.com/l/_9HKeUlwbbrQa
https://dl.doubtnut.com/l/_sef4rR9bFURO

44. Beryllium halides are covalent whereas magnesium

halides are ionic. Why?

o Watch Video Solution

45, Alk aline earth metal (A), belongs to 3rd period
reacts with oxygen and nitrogen to form compound (B)
and (C) respectively. It undergo metal displacement

reaction with AgNQOj solution to form compound (D).

o Watch Video Solution



https://dl.doubtnut.com/l/_sef4rR9bFURO
https://dl.doubtnut.com/l/_D8INmZcO0sbX
https://dl.doubtnut.com/l/_pU0QlgatMqkM

46. Write balanced chemical equation for the following
processes

evaporating a solution of calcium hydrogen carbonate

° Watch Video Solution

47. Write balanced chemical equation for the following
processes

heating calcium carbonate

o Watch Video Solution



https://dl.doubtnut.com/l/_XpTXrMjCTIm9
https://dl.doubtnut.com/l/_03BZJUyuQ4Z2

48. Write balanced chemical equation for the following
processes

evaporating a solution of calcium hydrogen carbonate

° Watch Video Solution

49, Write balanced chemical equation for the following
processes

heating calcium oxide with carbon

o Watch Video Solution



https://dl.doubtnut.com/l/_JTo9tt4vRkLQ
https://dl.doubtnut.com/l/_ebfdTstQaAaw

50. Explain the important common features of Group 2

elements

o Watch Video Solution

51. Discuss briefly the similarities between beryllium

and aluminium

o Watch Video Solution

52. Why alkaline earth metals are harder than alkali

metals.

o Watch Video Solution



https://dl.doubtnut.com/l/_ddIuHlhFeF74
https://dl.doubtnut.com/l/_kBsaWz2g8v2p
https://dl.doubtnut.com/l/_QPknMG9RwUAD

53. How is plaster of paris prepared ?

o Watch Video Solution

54. Give the uses of gypsum.

° Watch Video Solution

55. Describe briefly the biological importance of calcium

and magnesium.

° Watch Video Solution



https://dl.doubtnut.com/l/_QPknMG9RwUAD
https://dl.doubtnut.com/l/_3WvEG6r6hsul
https://dl.doubtnut.com/l/_gPBlsuPnAoxz
https://dl.doubtnut.com/l/_J5C4bbCJcSx4
https://dl.doubtnut.com/l/_TrqY1FUJ5uWu

56. Which would you expect to have a higher melting
point, magnesium oxide or magnesium fluoride?

Explain your reasoning.

o Watch Video Solution

Additional Question Additional Choose The Correct

Answer

1. Which one of the following is true?

A. Lithium on direct combination with nitrogen to

form Lis N


https://dl.doubtnut.com/l/_TrqY1FUJ5uWu
https://dl.doubtnut.com/l/_02rRkZ6BxSba

B. Magnesium on direct combination with nitrogen

to form Mgs N

C.Both (a) and (b)

D. Lithium and magnesium form bicarbonates

Answer: C

o View Text Solution

2. Potassium chloride is used as

A. fertilizer

B. soft soap

C. electochemical cells


https://dl.doubtnut.com/l/_02rRkZ6BxSba
https://dl.doubtnut.com/l/_OcFL9YqRFjnK

D. all the above

Answer: A

° Watch Video Solution

3. The elements that belong to group 1 of the periodic

table are called as

A. alkali metals

B. alkaline earth metals

C. chalcogens

D. rare gases


https://dl.doubtnut.com/l/_OcFL9YqRFjnK
https://dl.doubtnut.com/l/_HyMdCpLoIAac

Answer: C

° Watch Video Solution

4. Rubidium belongs to group of metals

A. transition

B. inner transition

C. alkali

D. alkaline earth

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HyMdCpLoIAac
https://dl.doubtnut.com/l/_uJaCUigQyKu5

5. The radioactive element of group 1is

A. rubidium

B. cesium

C. francium

D. radium

Answer: C

o Watch Video Solution

6. Half life of fracium is

A.12.3 years



https://dl.doubtnut.com/l/_K6nPn2tEOYdU
https://dl.doubtnut.com/l/_TZMQPejxDs26

B. 12.3 mins

C. 21 years

D. 21 mins

Answer: D

o Watch Video Solution

7. Electronic configuration of is block of elements is


https://dl.doubtnut.com/l/_TZMQPejxDs26
https://dl.doubtnut.com/l/_D5NrdB4zBtKH

D. nsznp2

Answer: B

° Watch Video Solution

8. The atomic and ionic radii of alkali metals

moving down the group.

A. increases

B. decreases

C. decreases and then increases

D. does not vary


https://dl.doubtnut.com/l/_D5NrdB4zBtKH
https://dl.doubtnut.com/l/_yrY5PMLJTwkU

Answer: A

° Watch Video Solution

9. Alkali elements exhibit an oxidation state of

A +1
B. +2
C.+3

D. 44

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yrY5PMLJTwkU
https://dl.doubtnut.com/l/_UrL1OqUp6SDn

10. The hydration enthalpies of alkali metal ions

decreases in order.

AL"T>Nat" >K">Rb" >Cs™*

B.Cs™ >Rb" >K" > Nat > Li

CCLit >Rb"™ >K" > Nat >Cs™

D.Rb" >Cst >K™* > Na* > Li

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3hm71V2xgCjB

11. The most electro positive element of the periodic

table is

A. Gold

B. Platinum

C. Cesium

D. Calcium

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WEbTemGOYJ9O

12. Consider the following statements
1. Alkali metals are soft.
2. Alkali metals show high reactivity
3. I.E of alkali metal decreases down the group Which of
the following statement(s) given above is/ are correct?
A1&3
B.only 1

C.2&3

D.1,2 &3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_UfeKcvFU70ET

13. The alkali metals have low melting point. Which of
the following alkali metal is expected to melt if the
room temperature rises to 30°C ?

A. Na

B.K

C.Rb

D.Cs

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HdDcEo52gOdU

14. The reducing power of a metal depends on various

factors. Suggest the factor which makes Li, the

strongest reducing agent in aqueous solution.

A. Sublimation enthalpy

B. lonisation enthalpy

C. Hydration enthalpy

D. Electron-gain enthalpy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xmGoEVe7gCNk

15. The order of decreasing ionisation enthalpy in alkali

metals is

A. NagtLigtKgtRb

B. RbltNaltKItLi

C. LigtNagtKgtRb

D. KltLiltNaltRb

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_gdUdCm7JDyZm

16. Which of the following is used in photoelectric cells

?
A. Na
B. K
C.Li
D.Cs
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_sSu8ZxQT5B2o

17. Metallic elements are described by their standard
electrode potential, fusion enthalpy, atomic size, etc.
The alkali metals are characterised by which of the
following properties?

(1) High boiling point

(ii) High density

(i) Large atomic size

A l&ii

B.1 & iii

C.onlyii

D. only iii

Answer: D


https://dl.doubtnut.com/l/_L3HXU9k5OMtm

o View Text Solution

18. Which of the following are the correct reasons for

anomalous behaviour of lithium?

A. Exceptionally small size of its atom

B. Its high polarising power

C. Exceptionally low ionisation enthalpy

D.bothaandb

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_L3HXU9k5OMtm
https://dl.doubtnut.com/l/_s7UodRdhzp6A
https://dl.doubtnut.com/l/_NpJicpSLMzqP

19. ions are found in large proportions in

biological fluids.

A Na'™ & Cl™

BK'T&Cl™

CCNa" & K™

D.Cl™ & Br~

Answer: C

o Watch Video Solution

20. Which of the following ions are more responsible

for transmission of nerve signal?


https://dl.doubtnut.com/l/_NpJicpSLMzqP
https://dl.doubtnut.com/l/_Vi97Lbp53GyL

A. Lithium

B. Sodium

C. Potassium

D. Sodium of Potassium

Answer: D

° Watch Video Solution

21. Spodumene is the silicate mineral of

A. lithium

B. sodium

C. cesium



https://dl.doubtnut.com/l/_Vi97Lbp53GyL
https://dl.doubtnut.com/l/_oxZg3HYcaKzM

D. francium

Answer: A

° Watch Video Solution

22. Which of the following metals is most commonly

used in photochemical cells?

A. Lithium

B. Calcium

C. Caesium

D. francium


https://dl.doubtnut.com/l/_oxZg3HYcaKzM
https://dl.doubtnut.com/l/_lUA22Aecz66h

Answer: C

o Watch Video Solution

23. Which among the folJowing is the strongest

reducing agent?

A. Na

B.K

C.Ac

D. Mg

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lUA22Aecz66h
https://dl.doubtnut.com/l/_KqjSYGzT5PXh

24. Why Cs and K are used as electrodes

photoelectric cells ?

A. Due to their less ionisation energy

B. Due to high ionisation energy

C. Due to diagonal relationshiop

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_KqjSYGzT5PXh
https://dl.doubtnut.com/l/_B97C7v4dTWra

25. Which among the following alkali metals exhibit the

most metallic character?

A. Na

B. Li

C.GCs

D.K

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_yUQHqNaZOA5S

26. The correct increasing order of density of alkali

metals is

A. LiltKItNaltRbltCs

B. LiltNaltKItRbltCs

C. KItLiltRbltNaltCs

D. CsltRbltKItNaltLi

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cSBWzUOTqu85

27. Alkaline earth metals belong to group of the

periodic table.

A1l

B.2

C.17

D. 18

Answer: B

o Watch Video Solution

28. The metallic lusture exhibited by sodium is due to,


https://dl.doubtnut.com/l/_oAo3x6i19SUi
https://dl.doubtnut.com/l/_om8vs3l9cxB9

A. Excitation of free protons

B. Existence of body centered cubic lattice

C. Diffusion of Na ™ ions.

D. Vibration of loose electrons

Answer: D

o Watch Video Solution

29. NaCl gives a golden yellow colour to the Bunsen

flame which is due to.

A. Sublimation of metallic Na to give yellow vapour


https://dl.doubtnut.com/l/_om8vs3l9cxB9
https://dl.doubtnut.com/l/_9HJ3dU8n09js

B. Emission of excess energy absorbed as a

radiation in the visible region.

C. Low ionization potential of Na

D. Photosensitivity of Na

Answer: B

o View Text Solution

30. Assertion : Lithium is in diagonal relationship with
magnesium

Reason : Li ™ has same size as Mg ™"


https://dl.doubtnut.com/l/_9HJ3dU8n09js
https://dl.doubtnut.com/l/_1dpMEnfkKoIC

A. both assertion and reason are true and reason is

the correct explanation of assertion

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false

D. both assertion and reason are false

Answer: A

o Watch Video Solution

31. occurs in large amounts in sea water.


https://dl.doubtnut.com/l/_1dpMEnfkKoIC
https://dl.doubtnut.com/l/_2wK9YHpHTZ3K

B. KCl

C. Both (a) and (b)

D. neither a norb

Answer: C

o Watch Video Solution

32. Which of the following oxides is the most basic in

nature?

A. NCL2O

B. BeO

C. Li,O


https://dl.doubtnut.com/l/_2wK9YHpHTZ3K
https://dl.doubtnut.com/l/_yWdXaKKyVYyw

D. H,O

Answer: A

o Watch Video Solution

33. The most stable hydride of the following

A. NaH

B. LiH

C.KH

D. CsH

Answer: B

| =


https://dl.doubtnut.com/l/_yWdXaKKyVYyw
https://dl.doubtnut.com/l/_opIPjXCZnHEv

l & Watch Video Solution

34. Which hydroxide decomposes on heating ?

A. NaOH

B. RbOH

C. KOH

D. LiOH

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_opIPjXCZnHEv
https://dl.doubtnut.com/l/_Od3Oh2B3sjDH

35. Which of the following halides has the highest

melting point-

A. NaF

B. NaCl

C.NaBr

D. Nal

Answer: A

o Watch Video Solution

36. The polarising power of Mg is almost same as


https://dl.doubtnut.com/l/_1hp8YhKtKDkD
https://dl.doubtnut.com/l/_RABj2HGqtVFf

A. Li

B. Na

C.K

D.Rb

Answer: A

° Watch Video Solution

37. Find out the correct statement with respect to alkali

metals.

A.The react with oxygen to give mainly the oxide

MO,


https://dl.doubtnut.com/l/_RABj2HGqtVFf
https://dl.doubtnut.com/l/_51wzsOrccNwP

B. They react with halogen to give halides MX

C.Their nitrates decomposes on heating to give

N02 and 02

D. Their carbonates decomposes on heating to give

C O,y and MO

Answer: B

o View Text Solution

38. Assertion : NaySO, is soluble in water but BaSO,

is insoluble


https://dl.doubtnut.com/l/_51wzsOrccNwP
https://dl.doubtnut.com/l/_R4CSg4nR9ku7

Reason: Lattice energy of barium sulphate exceeds its

hydration energy.

A. both assertion and reason are true and reason is

the correct explanation of assertion

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false

D. both assertion and reason are false

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_R4CSg4nR9ku7

39. Correct electronic configuration of Cr is

A. ns2

B. nsl

C. ns2np1

D. ns2np2

Answer: A

o Watch Video Solution

40. The radioactive element of group 2 element


https://dl.doubtnut.com/l/_eEmJD9utWKWU
https://dl.doubtnut.com/l/_IocwoLvtW7LK

A. Strontium

B. Radium

C. Beryllium

D. francium

Answer: B

° Watch Video Solution

41. Alkaline earth metals exhibit

state in their compounds.

A +1

B. +2

oxidation


https://dl.doubtnut.com/l/_IocwoLvtW7LK
https://dl.doubtnut.com/l/_OYHiJovdMA2h

C.+4

D.+6

Answer: B

o Watch Video Solution

42.Some of the Group 2 metal halides are covalent and
soluble in organic solvents. Among the following metal

halides, the one which is soluble in ethanol is

A. BGClQ

B. MgCl2


https://dl.doubtnut.com/l/_OYHiJovdMA2h
https://dl.doubtnut.com/l/_rbEHnWgJWFTa

C. C&Clg

D. S’I"Clz

Answer: A

o View Text Solution

43, is a group 2 element which shows diagonal

relationship with aluminium.

A. Be

B. Mg

C.Ca

D. Ba


https://dl.doubtnut.com/l/_rbEHnWgJWFTa
https://dl.doubtnut.com/l/_V8LqvDNXCono

Answer: A

o Watch Video Solution

44. Alkaline earth metals form basic hydroxides. The

metal hydroxide which is most basic is

A.Mg(OH),
B.Ca(OH),
C.Sr(OH),

D. Ba(OH),

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_V8LqvDNXCono
https://dl.doubtnut.com/l/_3CFIR7kPxAHk

45. is unstable in air and is kept in CO,

atmosphere to avoid decomposition.

A. BBCOg

B. MgCO?,

C. CG,CO3

D. BCI,COg

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3CFIR7kPxAHk
https://dl.doubtnut.com/l/_EkvBSXbToAft

46. Which one of the following alkaline earth metal

carbonates is thermally most stable?

A. M9003

B. CGCOg

C. S’I"COg

D. Ba003

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_orWmNNh5on9c

47. is the cofactor of all enzymes that utilize

ATP in phosphate transfer and energy release.

A. Be

B. Mg

C.Ca

D. Ba

Answer: B

o View Text Solution

48. Alkaline earth metals are


https://dl.doubtnut.com/l/_7WeUC1BnZvUc
https://dl.doubtnut.com/l/_aXlDuYPDb0T1

A. Monovalent

B. Divalent

C. Trivalent

D. Zerovalent

Answer: B

° Watch Video Solution

49. Name the alkaline earth metal hydroxide which is

amphoteric is nature.

A. Be(OH),

B. KOH


https://dl.doubtnut.com/l/_aXlDuYPDb0T1
https://dl.doubtnut.com/l/_3LyYnVuX8gNT

C. NaOH

D. All of these

Answer: A

o Watch Video Solution

50. Why alkaline earth metals have higher tendency to

form complexes than alkali metals?

A. Smaller size

B. Greater nuclear charge

C.Both (a) and (b)

D. neither a nor b


https://dl.doubtnut.com/l/_3LyYnVuX8gNT
https://dl.doubtnut.com/l/_rS6AZLMzdX7w

Answer: C

° Watch Video Solution

51. Ca is a good reducing agent, because

A. Due to its has small size

B. It has negative reduction potential

C. It is the first member of group 2

D. It has one electron in outermost shell

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rS6AZLMzdX7w
https://dl.doubtnut.com/l/_gHySb3mMrs66

52. What is the trend of formation of ionic compound

in alkaline earth metals?

A. Increases down the group

B. Decreases down the group

C. Decreaes across the period

D. Remains same in the periodic table

Answer: A

° Watch Video Solution

53. The element that does not answer the flame test is


https://dl.doubtnut.com/l/_8AUIbiheKaKI
https://dl.doubtnut.com/l/_90ndGxysdDRQ

A. Ba

B. Mg

C.Ca

D. Sr

Answer: B

° Watch Video Solution

54. Quicklime is

A. CGCO3
B. CaO

C.Ca(OH),


https://dl.doubtnut.com/l/_90ndGxysdDRQ
https://dl.doubtnut.com/l/_zlfAo3Bl5Udu

D.CaSi0;

Answer: B

o Watch Video Solution

55.Ca(OH), is

A. gypsum
B. milk of lime
C.slaked lime

D. lime water

Answer: C

| =


https://dl.doubtnut.com/l/_zlfAo3Bl5Udu
https://dl.doubtnut.com/l/_PvKRXV9YQ17W

l & Watch Video Solution J

56. Assertion : Alkaline earth metals are harder than

alkali metals

Reason : Atomic radii Qf alkaline earth metals are

smaller than corresponding alkali metals in the same

periods of periodic table

A. both assertion and reason are true and reason is

the correct explanation of assertion

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false


https://dl.doubtnut.com/l/_PvKRXV9YQ17W
https://dl.doubtnut.com/l/_vAkGnzx5BqEe

D. both assertion and reason are false

Answer: B

° Watch Video Solution

57. Assertion : Beryllium compounds are covalent in
nature

Reason : The size of Be*™ ion larger in comparison to
the radii of the other divalent ions of alkaline earth

metals.

A. both assertion and reason are true and reason is

the correct explanation of assertion


https://dl.doubtnut.com/l/_vAkGnzx5BqEe
https://dl.doubtnut.com/l/_e8Uc6nCQ0usu

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false

D. both assertion and reason are false

Answer: C

° View Text Solution

58. Identify the correct statements about barium.

(1) It shows photoelectric effect

(i1) It is silvery white metal

(iii) It forms Ba(NOj3), which is used in preparation of

green fire


https://dl.doubtnut.com/l/_e8Uc6nCQ0usu
https://dl.doubtnut.com/l/_3PGwkMODKhdo

A. Both (i) and (iii)

B. (ii) and (iii)

C.onlyii

D. (i), (ii), (iii)

Answer: B

° Watch Video Solution

59. Which element of group 2 is not considered as

alkaline earth metal?

A. Beryllium

B. Calcium


https://dl.doubtnut.com/l/_3PGwkMODKhdo
https://dl.doubtnut.com/l/_gH7Sx2wbtep4

C. Strontium

D. Barium

Answer: A

o Watch Video Solution

60. A substance which gives a brick red flame and

breaks down on heating to give oxygen and a brown

gas is

A. Magnesium nitrate

B. Calcium nitrate

C. Barium nitrate


https://dl.doubtnut.com/l/_gH7Sx2wbtep4
https://dl.doubtnut.com/l/_IK9AuIyv31HL

D. Strontium nitrate

Answer: B

° Watch Video Solution

61. Compounds of alkaline earth metals are less soluble

in water than the corresponding alkali metals salts due

to:

A. their increased covalent character

B. high lattice energy

C. their high ionization energy

D. none of the above


https://dl.doubtnut.com/l/_IK9AuIyv31HL
https://dl.doubtnut.com/l/_FUfv0mqskFET

Answer: A

° View Text Solution

62. _is used in purification and refining of sugar.

A.Ca(OH),
B. CaO
C. CG,CZQ

D. CCLCO3

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_FUfv0mqskFET
https://dl.doubtnut.com/l/_Z7Vzmwh5mBcR

63. Lime water turning milky is due to the formation of

A. Calcium carbonate

B. calcium hydroxide

C. Calcium oxide

D. Calcium chloride

Answer: A

o Watch Video Solution

64.formula of Gypsum is


https://dl.doubtnut.com/l/_jlAYKbof8pBb
https://dl.doubtnut.com/l/_S5JgVvGoipi7

A.CaSO4. H,O
B. CG,SO4.1 /2H20
C. 00,504.1 /4H20

D. C&SO;LQHQO

Answer: D

° Watch Video Solution

65. Gypsum is used in

A. Plaster board

B. surgical splints

C. soil additive


https://dl.doubtnut.com/l/_S5JgVvGoipi7
https://dl.doubtnut.com/l/_fAJIn1SVpymq

D. all the above

Answer: D

o Watch Video Solution

66. Plaster of Paris is

A. C’aSO4. H2O
B. CCI,SO4_1 /2H20
C. 001504.1 /4H20

D. CaSO4.2H20

Answer: B

| =


https://dl.doubtnut.com/l/_fAJIn1SVpymq
https://dl.doubtnut.com/l/_fz6lJOjF8zz4

l & Watch Video Solution J

67. Plaster of Paris is obtained by heating gypsum to

A. 293K

B. 100K

C.393K

D. 273K

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fz6lJOjF8zz4
https://dl.doubtnut.com/l/_e58PUgIwHNxO

68. Which of the following dissolves in water with a

hissing sound?

A. bleaching powder

B. marble

C. quick lime

D. slaked lime

Answer: C

° Watch Video Solution

69. The formula of bleaching powder is



https://dl.doubtnut.com/l/_OwR5xmuiq18w
https://dl.doubtnut.com/l/_O8vLO2wwKamI

A. CaOCl

B. CaOCl2

C. CCLOz Clz

D. CaOCl,

Answer: B

° Watch Video Solution

70. Consider the following statements

1. Gypsum is calcium sulphate hemihydrate

2. Retrograde solubility is striking feature of gypsum

3. Alabaster is a variety of gypsum Which of the

following statement(s) given above is/ are incorrect?


https://dl.doubtnut.com/l/_O8vLO2wwKamI
https://dl.doubtnut.com/l/_zMqYMfEVbnVd

A1&3

B.only 1

C.2&3

D.1,2&3

Answer: B

° Watch Video Solution

71. Dead burnt plasteris _

A. CGSO4
B. 00504_1 /2H2O

C. CGSO4. HQO


https://dl.doubtnut.com/l/_zMqYMfEVbnVd
https://dl.doubtnut.com/l/_kQCieRpLlZQM

D. CCLSO;LQHQO

Answer: A

° Watch Video Solution

72. Which of the following statements is true about
Ca(OH), ?
A. 1t is used in the preparation of bleaching powder
B. It is a light blue solid
C. It does not posses disinfectant property.

D. It is used in the manufacture of cement


https://dl.doubtnut.com/l/_kQCieRpLlZQM
https://dl.doubtnut.com/l/_X7PfoxS2vaLH

Answer: A

° Watch Video Solution

73. A chemical A is used for the preparation of washing
soda. When CO, is bubbled through an aqueous
solution of A, the solution turns milky. It is used in
white washing due to disinfectant nature. What is the

chemical formula of A?

A. C&(H003)2
B. CaO
C.Ca(OH),

D.CaCOs


https://dl.doubtnut.com/l/_X7PfoxS2vaLH
https://dl.doubtnut.com/l/_ighABKqldkO1

Answer: C

° Watch Video Solution

74.The suspension of slaked lime in water is known as

A. lime water

B. quick lime

C. milk of lime

D. aqueous solution of slaked lime

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ighABKqldkO1
https://dl.doubtnut.com/l/_54VGVoaTTnSs

75.By adding gypsum to cement

A. setting time of cement becomes less

B. setting time of cement increases

C. colour of cement becomes light

D. Shining surface is obtained

Answer: B

o Watch Video Solution

76. Give the correct order of thermal stabiiity of alkaline

earth metal carbonates.


https://dl.doubtnut.com/l/_VbxiNDeCkxiR
https://dl.doubtnut.com/l/_ykYhjGrfQlFj

BaCO3 > SrCO3 > CaCO3 > MgCO3 > BeCO;

SrC0O3 > CaCO3 > BaCO3 > BeCO3 > MgCOs5

BGCOg > BGCOg > M9003 > STCOg > CCLCOg

CaCO3 > MgCO3 > SrCO3 > BaCO3 > BeCOs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ykYhjGrfQlFj

which among the following metals does not undergo
the above reaction at high temperature?

A.Be

B.Ba

C.Ca

D. Sr

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AOJnzx8VAPfJ

78. Assertion : The fluorides of alkaline earth metals are

almost insoluble in water.

Reason: The lattice energies of the fluorides of alkaline

earth metal are very high.

A. both assertion and reason are true and reason is

the correct explanation of assertion

B. both assertion and reason are true but reason is

not the correct explanation of assertion

C. assertion is true but reason is false

D. both assertion and reason are false

Answer: A

[ |


https://dl.doubtnut.com/l/_ahuANjkwhZ76

[ W View Text Solution

79. Which is insoluble in water?

A. CGFQ
B. CaCl,

D. CG(NO3)2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ahuANjkwhZ76
https://dl.doubtnut.com/l/_0w8niuvSNfKz

80. The correct statements is / are :
(i) BeCl, is a covalent compound
(ii) BeCly Can form dimer
(iii) BeCly is an electron deficient molecule
(iv) The hybridisation of Be in BeCl, is sp*
A. (i) and (iii)
B. (i), (ii) and (iii)
C. (i) and (iv)

D. (ii), (iii) and (iv)

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_m9hMJ5hzNT7F

81. In which of the following reactions, MgO is not

formed

A Mg + COZ —

B. Mg+ No —

C. Mg + dil. HNO; —

D. Mg + 3203 —

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OI7ZTyAteN7i

82. Several blocks of magnesium are fixed to the

bottom of a ship to

A. keep away the sharks

B. prevent rusting of iron ships

C. make the ship lighter

D. prevent punturing by under sea rocks

Answer: B

° Watch Video Solution

83. Identify the correct statement



https://dl.doubtnut.com/l/_9NDHDuWMgbFr
https://dl.doubtnut.com/l/_HSKNzlaRgqUC

A. Gypsum is obtained by heating plaster of paris

B. Plaster of paris can be obtained by hydration of

gypsum

C. Plaster of paris contains higher percentage of

calcium than that of gypsum

D. Plaster of paris is obtained from gypsum by

oxidation

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_HSKNzlaRgqUC

84. The metals X and Y that form oxide and nitride ,

when burnt in air are

A. Li and Na

B. Mg and Ca

C.Csand K

D.Kand Mg

Answer: B

o Watch Video Solution

85. Alkali metal are reactive.


https://dl.doubtnut.com/l/_YcO18B630YeY
https://dl.doubtnut.com/l/_bOW2VC7yfHtW

A. highly

B. lower

C. very low

D. less than matels

Answer: A

° Watch Video Solution

86. Spodumene is the silicate mineral of

A. Beryllium

B. Lithium

C. Calcium



https://dl.doubtnut.com/l/_bOW2VC7yfHtW
https://dl.doubtnut.com/l/_i4xCbmQaBlKX

D. Potassium

Answer: B

° Watch Video Solution

87. Which of the following is incorrect ?

A. All Alkali elements are highly electropositive in

nature.

B. Alkali readily lose their valence electron to give

monovalent cations

C. Alkali metal have oxidation state which is +1 and

+2


https://dl.doubtnut.com/l/_i4xCbmQaBlKX
https://dl.doubtnut.com/l/_pVrP33MDxgFC

D. All the above are incorrect

Answer: C

° Watch Video Solution

88. Monovalent cations having stable electronic

configurations similar to the

A. Alkali metals

B. alkaline earth metals

C. Noble gas

D. Halgens


https://dl.doubtnut.com/l/_pVrP33MDxgFC
https://dl.doubtnut.com/l/_uHxRfWaJVRsS

Answer: C

o Watch Video Solution

89. Lithium directly reacts with carbon to form

the ionic compound

A. lithium carbide

B. lithium carbonate

C. lithium hydro carbide

D. lithium hydrogen carbonate

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_uHxRfWaJVRsS
https://dl.doubtnut.com/l/_UN0k19yxQcve

90. The coolant used in fast breeder reactor is

A. Liquid Ammonia

B. Liquid Sodium

C. Liquid hydrogen

D. Liquid CO,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_UN0k19yxQcve
https://dl.doubtnut.com/l/_zJiu36s92VpL

91. Except ___ halides, all the other halides of alkaline

earth metals are ionic in nature.

A. Sodium

B. calcium

C. Beryllium

D. lithium

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_ZRizON9vFzPK

92. Which is the correct statement about sodium

chloride?

A. sodium chloride melts at 1081K

B. It has a solubility of 36.0g in 100g of water at

273k

C. The solubility does not increase appreciably with

increase in temperature.

D. All the above are incorrect

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_rFmWfEAhtVLd
https://dl.doubtnut.com/l/_lYuUBqiDSb2s

93. The atomic and inoic radii and alkaline earth metals

are than the corresponding members of the

alkali metals

A. larger

B. smaller

C. extra large

D. same

Answer: B

o Watch Video Solution

94. Which is known as a natural insulator?


https://dl.doubtnut.com/l/_lYuUBqiDSb2s
https://dl.doubtnut.com/l/_Yt3DDvlAKRjm

A. Gypsum

B. beryllium

C. calcium

D. sodium

Answer: A

° Watch Video Solution

Additional Short Answer

1. Write the electrode reactions involved in the

electrolytic method of preparation of sodium

Hydroxide.


https://dl.doubtnut.com/l/_Yt3DDvlAKRjm
https://dl.doubtnut.com/l/_hvn1hv64tvzF

° Watch Video Solution

2. Alkali metals have low melting and boiling point.

Density of alkali metals is very low. Give reason

o View Text Solution

3. Why is second ionization energy of alkali metals

higher than alkaline earth metals?

° Watch Video Solution



https://dl.doubtnut.com/l/_hvn1hv64tvzF
https://dl.doubtnut.com/l/_92rnuW6RP2ex
https://dl.doubtnut.com/l/_Biak7Tji10zm

4. How does the alkali metals produce characteristic

colour to the oxidising flame?

o View Text Solution

5. Why is the density of potassium less than that of

sodium?

o Watch Video Solution

6. Why are potassium and caesium, rather than lithium

used in photochemical cells ?

o Watch Video Solution



https://dl.doubtnut.com/l/_rBLSPMGThFtm
https://dl.doubtnut.com/l/_ekRVsXQhWncV
https://dl.doubtnut.com/l/_E7yu5P7Ke1UO

7.Why does lithium exhibit anomalous properties ?

o Watch Video Solution

8.Why does the Li*" ion combines only with O?~ ion

?

o View Text Solution

9. Comment on each of the following observations:
(@) Lithium is the only alkali metal to form a nitride

directly by combination with nitrogen.

| e |


https://dl.doubtnut.com/l/_E7yu5P7Ke1UO
https://dl.doubtnut.com/l/_mewegPzCvqYe
https://dl.doubtnut.com/l/_fqnXD6tUZXsj
https://dl.doubtnut.com/l/_Axo2JtCkeNIo

[ W Watch Video Solution J

10. Alkali metals exhibit high chemical reactivity Give

reason.

o View Text Solution

11. Why sodium hydroxide is much more water soluble

than chloride?

o Watch Video Solution

12. Carbonates and bicarbonates of alkali metals

soluble in water and are thermally stable. Give reason.


https://dl.doubtnut.com/l/_Axo2JtCkeNIo
https://dl.doubtnut.com/l/_IyiZMTJcuvWq
https://dl.doubtnut.com/l/_8CXAlMlDtHou
https://dl.doubtnut.com/l/_Ri55kNVFGBjK

° View Text Solution

13. Write the chemical name of backing soda. Write any

one of it uses.

° Watch Video Solution

14. What happens when crystals of washing soda are

exposed to air?

o Watch Video Solution

15. List down the uses of washing soda.



https://dl.doubtnut.com/l/_Ri55kNVFGBjK
https://dl.doubtnut.com/l/_KRtQqulb6iBb
https://dl.doubtnut.com/l/_sWShS3w931JM
https://dl.doubtnut.com/l/_PXFlTU2esKYR

I ° Watch Video Solution

16. List the uses of sodium hydroxide.

o Watch Video Solution

17. Why is sodium bicarbonate nicknamed as 'Baking

Soda'?

o Watch Video Solution

18. Why does Liy,C(O3 decompose at a temperature

below 1273K ?



https://dl.doubtnut.com/l/_PXFlTU2esKYR
https://dl.doubtnut.com/l/_9UsN6FsM7dMW
https://dl.doubtnut.com/l/_qYUs9bvm2eBm
https://dl.doubtnut.com/l/_rq9xrnpyNX6L

l o View Text Solution J

19. What are 's' block elements ?

o Watch Video Solution

20. What is meant by 'diagonal relationship' in periodic

table? Why is it so?

o Watch Video Solution

21. Explain the structure of BeCl,

° View Text Solution



https://dl.doubtnut.com/l/_rq9xrnpyNX6L
https://dl.doubtnut.com/l/_vwM8V4WnTyPa
https://dl.doubtnut.com/l/_CNXQ7wXm6Rja
https://dl.doubtnut.com/l/_GQvBXrYvpLmO

22. Why does beryllium form BeCl, although it has no

unpaired electrons ?

o View Text Solution

23. Why are alkaline earth metal smaller than the

Corresponding alkali metals.

° Watch Video Solution

24. Why is the behaviour of beryllium is different from

the other elements of the same group?

.Y l


https://dl.doubtnut.com/l/_GQvBXrYvpLmO
https://dl.doubtnut.com/l/_2jqfOQQLE9q7
https://dl.doubtnut.com/l/_V2T14LFZZzzr
https://dl.doubtnut.com/l/_VV4OdTcPmnQG

| ¥ Vvatch video >olution ]

25. Give the applications of strontium with respect to

nuclear chemistry

o Watch Video Solution

26. Write note on the preparation of

B€F2

° Watch Video Solution

27. Write note on the preparation of

BeCl2


https://dl.doubtnut.com/l/_VV4OdTcPmnQG
https://dl.doubtnut.com/l/_jQ555no5Mom9
https://dl.doubtnut.com/l/_0AlxvRIf7ZWz
https://dl.doubtnut.com/l/_S7PQ8b2PMre1

° Watch Video Solution

28. Write note on the preparation of

B€H2

o Watch Video Solution

29. What happens when

(i) Magnesium is burnt in air

o Watch Video Solution



https://dl.doubtnut.com/l/_S7PQ8b2PMre1
https://dl.doubtnut.com/l/_Db1tFcewhUrq
https://dl.doubtnut.com/l/_AOnVJ0q5EN2W

30. What happens when

Quick lime is treated with silica

o Watch Video Solution

31. What happens when

Chlorine reacts with slaked lime.

o Watch Video Solution

32. Predict the product :

2BeCl, + LiAlH, — ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wbAeDPKkHyIx
https://dl.doubtnut.com/l/_qLVMmpjMNbEo
https://dl.doubtnut.com/l/_rGIU7u8i8Krx

33. Predict the product:

o Watch Video Solution

34. Predict the product :

B€+Cl2—> ?

o Watch Video Solution

35. IE, values of alkaline earth metals are much

smaller than those of alkali metals. Explain.

| e |


https://dl.doubtnut.com/l/_rGIU7u8i8Krx
https://dl.doubtnut.com/l/_Nx1RbUrhioAp
https://dl.doubtnut.com/l/_bPMxXg8KQD1s
https://dl.doubtnut.com/l/_Am9ylU0Wdazc

[ W Watch Video Solution

36. What are the uses of Beryllium?

o View Text Solution

37. What are the uses of Magnesium ?

° Watch Video Solution

38. What are the uses of Calcium ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Am9ylU0Wdazc
https://dl.doubtnut.com/l/_sdDe0YQ9j1Sh
https://dl.doubtnut.com/l/_7pCZa8LqAHeb
https://dl.doubtnut.com/l/_sYjbUgo2HAsb
https://dl.doubtnut.com/l/_c8NhZjA9Ltco

39. What are the uses of barium?

° Watch Video Solution

40. What are the uses of radium?

o Watch Video Solution

41. Beryllium and magnesium do not give colour to

flame whereas other alkaline earth metals do so. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_c8NhZjA9Ltco
https://dl.doubtnut.com/l/_BP6IwgknpKyL
https://dl.doubtnut.com/l/_kvHqEtSYLOnm

42. Name the compound that constitutes the main

body skelton.

o Watch Video Solution

43. What is the amount of Ca & Mg required by human

body/bag?

o Watch Video Solution

44, Complete and balance the following equations for

the reactions given between

Slaked lime + CO,H50



https://dl.doubtnut.com/l/_guzUDoEDmc1d
https://dl.doubtnut.com/l/_dB7xJGNR38tS
https://dl.doubtnut.com/l/_D0FcqkaZHWFV

l @ Watch Video Solution J

45. Complete and balance the following equations for
the reactions given between

Quick lime +CO,

o Watch Video Solution

46. Complete and balance the following equations for
the reactions given between

slaked lime +C'O,

o Watch Video Solution



https://dl.doubtnut.com/l/_D0FcqkaZHWFV
https://dl.doubtnut.com/l/_CJWl32tQyZBG
https://dl.doubtnut.com/l/_Eh63lNrcKybA
https://dl.doubtnut.com/l/_Ucd3IteggzlW

47. Complete and balance the following equations for

the reactions given between

° Watch Video Solution

48. BeSO, is soluble in water whereas BaSQO, is not.

Why?

o View Text Solution

49, What is milk of lime?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ucd3IteggzlW
https://dl.doubtnut.com/l/_L48fzcUW7qeN
https://dl.doubtnut.com/l/_6tGLgeoCUSly

50. Why does lime water turn milky when CO, is

bubbled through it ?

o Watch Video Solution

51. How is bleaching powder prepared ?

o Watch Video Solution

52. Write the uses of calcium hydroxide.

° Watch Video Solution



https://dl.doubtnut.com/l/_xDBjq1NVQrT5
https://dl.doubtnut.com/l/_pVoiuZo84eu3
https://dl.doubtnut.com/l/_jxRrhI1bCb2s

53. Discuss the role of magnesium in plants.

o Watch Video Solution

54. What is retrograde solubility ?

o Watch Video Solution

55. What is dead burnt plaster ?

° Watch Video Solution



https://dl.doubtnut.com/l/_0bumB1zJV7Gp
https://dl.doubtnut.com/l/_JYs0JaDJ1Vzp
https://dl.doubtnut.com/l/_TzWxMMqsXBHU

56. Which one of the following alkaline earth metal

carbonates is thermally most stable?

o Watch Video Solution

57. Which one of the following alkaline earth metal

carbonates is thermally most stable?

o Watch Video Solution

58. Which one of the following alkaline earth metal

carbonates is thermally most stable?

o Watch Video Solution



https://dl.doubtnut.com/l/_PlnQswZCfegM
https://dl.doubtnut.com/l/_Vb2q2ytEYAOO
https://dl.doubtnut.com/l/_JIA8PuBc3Ouy

59. Which one of the following alkaline earth metal

carbonates is thermally most stable?

o Watch Video Solution

60. How would you explain the following observation ?

BeO is almost insoluble but BeSOj is soluble in water.

o View Text Solution

61. LICIO, is more soluble than NaCIO,Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_JIA8PuBc3Ouy
https://dl.doubtnut.com/l/_02BPbTmDCs4z
https://dl.doubtnut.com/l/_eSkpTPo2X0gM
https://dl.doubtnut.com/l/_uYcUPtvG50Ee

62. How would you prepare beryllium hydride from

beryllium chloride ?

o Watch Video Solution

63. BeO is covalent where as MgO is ionic. Give reason.

° Watch Video Solution

64. How would you prepare quick lime ?

° Watch Video Solution



https://dl.doubtnut.com/l/_uYcUPtvG50Ee
https://dl.doubtnut.com/l/_3jktRYQwHZo8
https://dl.doubtnut.com/l/_vionStKj1KzX
https://dl.doubtnut.com/l/_ipCNeZayYtWp
https://dl.doubtnut.com/l/_dj0ilHCcCJqQ

65. What is soda ash ? How it obtained ?

° Watch Video Solution

66. How would you prepare pure sodium chloride from

crude salt?

° Watch Video Solution

67. Explain the action of Soda lime with
(i) S104

(i) P4Oq

o Watch Video Solution



https://dl.doubtnut.com/l/_dj0ilHCcCJqQ
https://dl.doubtnut.com/l/_py8MJHB3kUz4
https://dl.doubtnut.com/l/_t06mmKxy0XmR

Additional Long Answer

1. List out the uses of alkali metals.

o Watch Video Solution

2. How are peroxides and superoxides formed by alkali

metals?

o View Text Solution

3. Alkali metal hydrides are strong reducing agents.

Prove this statement.

.Y l


https://dl.doubtnut.com/l/_IKowcw8O5Smk
https://dl.doubtnut.com/l/_kzAJuhJoSPso
https://dl.doubtnut.com/l/_y3cx63dhgWqP

| ¥ Vvatch video >olution ]

4. When does the blue coloured ammonia solution (of

alkali metals) changes to bronze colour?

o View Text Solution

5. Describe about the biological important of sodium

and potassium.

° Watch Video Solution

6. How is sodium hydroxide prepared commercially

from brine solution?


https://dl.doubtnut.com/l/_y3cx63dhgWqP
https://dl.doubtnut.com/l/_N9VTM2DsS7rZ
https://dl.doubtnut.com/l/_l1FMvSKlsCqF
https://dl.doubtnut.com/l/_ESuzMKttAdPD

° Watch Video Solution

7. Why do Beryllium and nitrogen have zero electron

affinity ?

° Watch Video Solution

8. Write the equation for the amphoteric nature of

Beryllium hydroxide.

° Watch Video Solution



https://dl.doubtnut.com/l/_ESuzMKttAdPD
https://dl.doubtnut.com/l/_fyPyfhzI3kTU
https://dl.doubtnut.com/l/_UILLe5tPi7dw

9. Explain the preparation and uses of the following
compounds of calcium. i. Calcium oxide ii. Calcium

hydroxide

° Watch Video Solution

10. Describe solvay process (or) how is washing soda (

or) sodium carbonate prepared in industries?

o Watch Video Solution

11. Describe about the biological important of sodium

and potassium.



https://dl.doubtnut.com/l/_jDLggQd90mkn
https://dl.doubtnut.com/l/_TSQO4ExPEcYC
https://dl.doubtnut.com/l/_ogdc8xiNhs9O

l QP Watch Video Solution J

12. Enlist the simularities between lithium and

magnesium.

o Watch Video Solution

13. Compare the properties of beryllium with other

elements of the same group.

o Watch Video Solution



https://dl.doubtnut.com/l/_ogdc8xiNhs9O
https://dl.doubtnut.com/l/_ZrXp7omu0bfd
https://dl.doubtnut.com/l/_l3eECihDa4XC

14. Give the important uses of the following

compounds

NCLHCOg

o Watch Video Solution

15. Give the important uses of the following
compounds

NaOH

o Watch Video Solution



https://dl.doubtnut.com/l/_RqU0AHlLPW4o
https://dl.doubtnut.com/l/_gCmL9W2PM3CO

16. Enlist the simularities between lithium and

magnesium.

o Watch Video Solution

17. Compare the properties of beryllium with other

elements of the same group.

o Watch Video Solution

18. Distinguish between alkali metals and alkaline earth

metals.

o Watch Video Solution



https://dl.doubtnut.com/l/_zQLybrwI4X98
https://dl.doubtnut.com/l/_GmMH3nPhFhbB
https://dl.doubtnut.com/l/_wxRd818t37xv

19. When water is added to compound (A) of calcium,
compound B is formed with a hissing sound and
evolution of large amount of heat. When CO, , is
passed into the solution, it turns milky due to
formation of compound C. If excess C'O, is passed into
the solution, milkiness disappears due to the formation
of compound (D). Identify the compounds A, B, C and D.

Explain why the milkiness disappears in the last step.

° Watch Video Solution

20. An element occupies group number 1 and period

number 3. This element when exposed to air gives


https://dl.doubtnut.com/l/_wxRd818t37xv
https://dl.doubtnut.com/l/_vsKqEZjhryLp
https://dl.doubtnut.com/l/_W4f8WLXSLGWh

compound (A). The element with water forms
compound (B). Which is a strong base und (A) with
ammonia gives compound (C ) which is used as
reducing agent in organic chemistry. The element
reacts with an halogen and forms cooking salt (D).

Identify A, B, C and D.

o Watch Video Solution

21. An element belongs to group 1 and period 3 reacts
with chlorine gas to form A. (A) reacts with ammonium
bicarbonate to give compounds (B) and (C). Compound

period is beryllium (A). (B) is then heated to give


https://dl.doubtnut.com/l/_W4f8WLXSLGWh
https://dl.doubtnut.com/l/_Oyjy74rpJcQA

compound (D). Identify A, B, C and D and write the

respective equations.

° Watch Video Solution

22. An element A belonging to group 2 and period 2
reacts with chlorine at elevated temperature to give
compound (B) compound B combines with LiAlH, to
form compound (C). Which is an hydride identify A, B

and C.

° Watch Video Solution



https://dl.doubtnut.com/l/_Oyjy74rpJcQA
https://dl.doubtnut.com/l/_gQegan7w0fu8

